Find the difference between 8 kg 100 g and 7 kg 550 g.

Subiract &4 201 g from 9 kg 60 g.

Divide 2 m by 4. State the answer in cm.

Subtract 3 m 16 cm from 10 m. Give the answer in cm.

Find the difference between 90 m 5 cm and 72 m 80 cm.

. Colculate the fotal mass of the [~ Fruit Mass
pineapple and jackfruit. Pineapple | 983 g

ji. How much more is the mass of | Jackfruit | 4 kg 4509 |
the jackfruit than pineapple?

Lina made 2 £ 520 mf of cocoa drink. She poured the drink
equally into 8 cups. Calculate the volume, in m¢, of the cocoa
drink in each cup.
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.. State the length of the yellow hose in cm.
ii. What is the length, in m and ¢m, of the green hose?
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